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MOCK TEST-3

(e) Since, pressure is directly
proportional to the depth of
liquid column.

So, container A will have more
pressure.

2. (b) For magnets 2 and 3 to attract,

the pole on the right of magnet 2
must be a S-pole and P mustbe a
N-pole. For magnets 1.and 2 to
repel each other; thetwo poles
facing each other must be like
poles. Thus Q must be a S-pole.

3. (a) An object.which allows most of

the light to pass through it is
called as'transparent object.

4. (d) Adding switches to the circuit

allows the bulbs to be switched
on and off at will. We can control
the bulbs individually with
Switch Y and Switch Z. Switch
X is the main or master switch
of the circuit. This is because it
can switch on or off all the lights
provided Switch Y and Switch Z
are switched on.

1.

. (d) Speed of a car =

.5 -:;:r“
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PHYSICS 5. (c) As theére is the change 1is

position of an object hence it has
both distance and displacement.

(b)-A rough surface diffuses incident

beam of light. Therefore, option
(b) is correct and rest of the
options are incorrect.

(¢) Silver is a good conductor of

electricity but it is not used to
make electric wires because it
is expensive.

Distance travel

Time taken

(a) Ahorseshoe magnet has varying

magnetic strengths at different
positions. The magnetic strength
is always the strongest at the
poles. Therefore, a horseshoe
magnet has the strongest
magnetic strength at the poles
which is at the two ends. The
horseshoe magnet will pick up
the greatest amount of magnetic
objects at the ends than in the
middle of the bar magnet. Points
V and Z which are the poles of



e poles and the
> of the magnet will attract
e pins than Point X but less
1 1an Pomts V and Z.

‘ 2. "il' '_ 'Mahon is along straight line. So
- it is rectilinear and it repeats

rzu;'- itself after several time:

interval. Soit is periodic.

13. (e¢) Shoe box can never form an
circular shadow due to_its

- rectangular of shape. ™ .

14. (b) The greatest concentration of
iron filings wil%ﬁt B as the

um at poles
and B is closest

iron nail and a needle. They
both are hard and can be
£ attracted by magnets.
m l’a) Washing powder i 1s soluble in
- water.
.W. (¢) The melted wax undergoes
~ combustion as the cotton thread
~ gets burnt. The combustion
duces carbon dioxide and

19. (d) The appearance of Halley’s

20. (¢)

21. (l:)

released It is nan exoth; ic
reaction and a fast change.

Matg% ‘are grouped together
omthe asis of similarities and
/?fg‘rences in their properties.
Wood catches fire when heated

‘directly over a flame. It is

22. (b)

therefore the least suitable for
making part labelled Q. The
other materials, glass, steel and
ceramics are able to absorb and
retain heat from the fire.

The mixture consists of sand,
sugar and water. Sugar being
soluble in water will form a sugar
solution. During filtration, the
sand will be separated by filter
paper as residue while sugar
solution will pass through.
During distillation, pure water
can be collected leaving the
sugar separate. Distillation is
the process to obtain pure form

Sand + sugar |
+water

ofliquid from a solution.




odic changes are chang_es.
- that occur at regular int

i, ervals
24. (@) A-(11); B-(1); C-(iv); D-(iii); E-(v)
() If we observe the classification

7 chartc.arefu]ly,wewﬂl seethat the
- materials areclassified according
to sources they come from. Those
materials that are grouped under
X come from plants, whereas those
that are grouped under Y come
from animals.
can come from
| |
Plants Animals
e.g. C-&:
Cotton [eather
Wood Silk
Wool Eur

Wool is obtained from sheep. It
should therefore be elassified in
Group Y. Silk eomes from the
cocoons of silkworms. Fur comes
from the outer body covering of
mammals. Leather comes from
the»sk;r; or hide of animals.

26. (a) Eruit of cotton plant called
cotton boll is used for obtaining
cotton fibre. Cotton bolls on
maturing open and give cotton.

27. (a) On tilting the bottle bubbles of

- air came out of bottle and some

- water entered the bottle.

28. (d) Melting of wax is a reversible
change as melted wax can be

€k . solidified on cooling.

given phenomen are 29, (o v _ T
le of periodic dhan;e 29. (c) Water droplets on the inner

o

surface of the empty portion of
the bottle is due to evaporation
and condensation of the water.

30. (¢) Magnifying glass and glass
tumbler are transparent
materials. '

31. (b) Water is first filtered to remove
solid impuriti m water.
Small suspended impurities are
then rem&yeﬁ by loading.
Loadingf,.ﬁglps the suspended
clay particles to settle down
rapidly and clear water can be
removed by decantation. Water
1s then boiled to remove
harmful germs and to make
water fit for drinking.

N BIOLOGY

32. (c) The diagram shows a seedling.
When a seed germinates, a
seedling is produced. For
germination to take place, the
seed would require water, oxygen
and the right temperature.
Sunlight is not needed at this
stage because no green leaves are
present for the seedling to carry
out photosynthesis.

33. (c) By practising reusing, recycling
and reducing methods, less
rubbish would be produced.
Incineration and burying
rubbish in landfills are not
methods to reduce the production
of rubbish. Incinerationis a
treatment method and a landfill
is a site where waste materials
are buried.




f' that receive pollen
s are large. This is a
- ctenstlcof wind-pollinated

36 "'_.‘_',:;El’heeplatypus has webbed feet

- and is likely to be found in a

~ very wet environment. It does

not have very thick fur coat

hence it is probably adapted to
moderate temperatures.

37 (b) The lines on the broad green
part of leaf are called veins.

38. (d) Grass, giraffe and gold fish need
essential living conditions such
as nutrition and, suitable
atmosphere for proper growth.

39. (a) Bone marrow is asoft substance
present 1n51d&hone

40. (e) Resplr is an oxidation

ess because there is need of
sen. for this activity.

) Green plants prepare their food
by the process of photosynthesis
and there is occuring respiration
in all living being for the
evolution of energy.

42. (a) Aquatic habitats are concerned
with ecosystem related with
water bodies such as river, sea,
lake and pond etc.

greenh._ use
precess by which thern
radiation from ea
absorbed. It results in elevation
of surface temperature.

44. (¢) The process of photosynthesig
can take place only in thoge

living organisms that have
chlorophyll as algae,
green plant

45. (d) Rainfore: %h bltat shows hot

and wef: mate with heavy

rainfall: This results in rich
vegetation.

(c) Hydrophytes are those plants
that grow partly or wholly in
water. Such as — lotus, lily and
hyacinth ete.

(c) Nitrogen is an essential
component of protein. In the
absence of nitrogen protein
cannot be formed.

. (@) Soil fertility depends upon water
holding capacity and humus
availability. This quality is

- shown by clayey soil so it is more
fertile in comparison to sandy
soil.

(b) The leaves of aquatic plants do
not have waxy coating on the
surface because whole surface
is required for gas exchange
between plant and water.

50. (d) Desert plants lose very little

water due to lack ﬂf B‘?"" '

47.

49,




